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1. Confidence Intervals (normal pop. when o is not known, data in a frequency distribution table)

1.

Suppose you are given a frequency table of data. First, enter the values into a list (e.g. L1), then
enter the frequencies into another list (e.g. L2). Press [STAT], scroll over to TESTS, scroll down to

8:TInterval..., and press (see left image, below). Select Data as your input method
(Inpt), give the list that contains the data (List), be sure the frequency (Freq) is set to the list
that contains the frequencies, and the confidence level (C-Level) should be entered as a decimal
value (see right image, below). When this is done, move the cursor to Calculate and press
to view the confidence interval.
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Example: An English professor wants to estimate the average study time per week for students in
introductory English courses at her school. To accomplish that, she randomly selects 25 students
and records their weekly study times. The times, in hours, follow.

Number of Study Hours | 2 3 4 5 6 7 8 9 10 11
Frequency | 2 1 3 1 5 5 5 2 0 1

Use the sample data to find a 95% confidence interval for the mean weekly study time of
introductory English students at the school. (Assume that the weekly study times are normally
distributed.)

First, enter the data into a list (e.g. L1) and the frequencies into another list (e.g. L2). Press [STAT],

scroll over to TESTS, scroll down to 8:TInterval..., and press (see second image, below).
Select Data as your input method, give the list that contains the data (L1), enter the list that
contains the frequencies (L2), and the confidence level should be entered as a decimal value (0.95).
When this is done, move the cursor to Calculate and press to view the confidence interval.
(Note that the sample mean, sample standard deviation, and sample size are also given,
respectively.)
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“We can be 95% confident that the mean weekly study time of introductory English students at
the school is somewhere between 5.3992 hours and 7.2408 hours.”
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1. Confidence Intervals (normal population when o 'is not known, summary statistics are given)

1.

Suppose you are given summary statistics for a set of data. First, press [STAT], scroll over to

TESTS, scroll down to 8:TInterval..., and press (see left image, below). Select Stats as
your input method (Inpt), give the sample mean (X), give the sample standard deviation (Sx), be
sure the sample size (n) is entered, and the confidence level (C-Level) should be entered as a
decimal value (see right image, below). When this is done, move the cursor to Calculate and

press [ENTER] to view the confidence interval.

T _CHALC pi==gEs T
-Test..
-SamrsTest..
-SanrTTest..
-ProrZTest..
-ProrZTe=zt..
Interwval..
Intervwall

=+

—|Nh.'ll—'-h.'lM—|l—l
[ Lo o |£{I'IKIHH

Eﬂdmr_n-nwmm

Example: An English professor wants to estimate the average study time per week for students in
introductory English courses at her school. To accomplish that, she randomly selects 25 students
and records their weekly study times. Find a 95% confidence interval for the mean weekly study
time of introductory English students at the school. (Note that the weekly study times are
normally distributed with X = 6.32 and s = 2.2308.)

First, press [STAT], scroll over to TESTS, scroll down to 8:TInterval..., and press (see left
image, below). Select Stats as your input method, give the sample mean (6.32), give the sample
standard deviation (2.2308), be sure the sample size is entered (25), and the confidence level
should be entered as a decimal value (0.95). When this is done, move the cursor to Calculate and

press [ENTER] to view the confidence interval. (Note that the user-entered values for the sample
mean, sample standard deviation, and sample size are also displayed, respectively.)
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“We can be 95% confident that the mean weekly study time of introductory English students at
the school is somewhere between 5.3992 hours and 7.2408 hours.”
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IV. Hypothesis Tests for U (normal population when o is not known, data in one list)

1.

Hypothesis tests using the student’s #-distribution can be computed using the information in the
text with a Student’s T-Distribution Table, or they can be computed directly with the TI-83.

Suppose you are given a list of data. First, enter the values into a list (e.g. L1). Press [STAT], scroll
over to TESTS, scroll down to 2:T-Test..., and press (see left image, below). Select Data
as your input method (Inpt), enter the value of hypothesized mean (l,), give the list that contains
the data (List), be sure the frequency (Freq) is 1 since all of the data is in one list, and select the
appropriate alternative hypothesis (lt:) (see right image, below). When this is done, move the

cursor to Calculate and press [ENTER] to view the results.
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Example: An English professor wants to estimate the average study time per week for students in
introductory English courses at her school. To accomplish that, she randomly selects 25 students
and records their weekly study times. The times, in hours, follow.

9 8 7 6 7
8 9 4 6
6 4 11 5 4
3 7 8 8 7
6 2 2 8 6

Use the sample data to determine if the mean weekly study time of introductory English students
at the school differs from the 5.75 hours spent on average at a neighboring school. (Assume that
the weekly study times are normally distributed.)

First, enter the data into a list (e.g. L1). Press [STAT], scroll over to TESTS, scroll down to 2:T-
Test..., and press (see second image, below). Select Data as your input method, enter the
value of the hypothesized mean (5.75), give the list that contains the data (L1), be sure the
frequency is 1 since all of the data is in one list, and the appropriate alternative hypothesis should
be selected (#l,). When this is done, move the cursor to Calculate and press to view the
results. (Note that the alternative hypothesis, test statistic value, p-value, sample mean, sample
standard deviation, and sample size are given, respectively.)
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Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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V. Hypothesis Tests for [ (normal pop. when & is not known, data in a frequency distribution table)

1.

Suppose you are given a frequency table of data. First, enter the values into a list (e.g. L1), then
enter the frequencies into another list (e.g. L2). Press [STAT], scroll over to TESTS, scroll down to

2:T-Test..., and press (see left image, below). Select Data as your input method (Inpt),
enter the value of hypothesized mean (|,), give the list that contains the data (List), be sure the
frequency (Freq) is set to the list that contains the frequencies, and select the appropriate
alternative hypothesis (l:) (see right image, below). When this is done, move the cursor to

Calculate and press [ENTER] to view the results.
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Example: An English professor wants to estimate the average study time per week for students in
introductory English courses at her school. To accomplish that, she randomly selects 25 students
and records their weekly study times. The times, in hours, follow.

Number of Study Hours | 2 3 4 5 6 7 8 9 10 11
Frequency | 2 1 3 1 5 5 5 2 0 1

Use the sample data to determine if the mean weekly study time of introductory English students
at the school differs from the 5.75 hours spent on average at a neighboring school. (Assume that
the weekly study times are normally distributed.)

First, enter the data into a list (e.g. L1) and the frequencies into another list (e.g. L2). Press [STAT],
scroll over to TESTS, scroll down to 2:T-Test..., and press (see second image, below).
Select Data as your input method, enter the value of the hypothesized mean (5.75), give the list
that contains the data (L1), enter the list that contains the frequencies (L2), and the appropriate
alternative hypothesis should be selected (#,). When this is done, move the cursor to Calculate

and press [ENTER] to view the results. (Note that the alternative hypothesis, test statistic value, p—
value, sample mean, sample standard deviation, and sample size are given, respectively.)
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Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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VL. Hypothesis Tests for [ (normal population when © is not known, summary statistics are given)

1.

2.

Suppose you are given summary statistics for a set of data. First, press [STAT], scroll over to
TESTS, scroll down to 2: T-Test..., and press (see left image, below). Select Stats as your
input method (Inpt), enter the value of hypothesized mean (L), give the sample mean (), give the
sample standard deviation (Sx), be sure the sample size (n) is entered, and select the appropriate
alternative hypothesis (l:) (see right image, below). When this is done, move the cursor to

Calculate and press [ENTER] to view the results.
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Example: An English professor wants to estimate the average study time per week for students in
introductory English courses at her school. To accomplish that, she randomly selects 25 students
and records their weekly study times. Determine if the mean weekly study time of introductory
English students at the school differs from the 5.75 hours spent on average at a neighboring school.
(Note that the weekly study times at the English professor’s school are normally distributed with
X =6.32 and s = 2.2308.)

First, press [STAT], scroll over to TESTS, scroll down to 2:T-Test..., and press ([ENTER] (see left
image, below). Select Stats as your input method, enter the value of the hypothesized mean
(5.75), give the sample mean (6.32), enter the sample standard deviation (2.2308), be sure the
sample size is entered (25), and the appropriate alternative hypothesis should be selected (£u,).

When this is done, move the cursor to Calculate and press [ENTER] to view the results. (Note that
the alternative hypothesis, test statistic value, p-value, user-entered sample mean, user-entered
sample standard deviation, and user-entered sample size are given, respectively.)
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Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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L

Inference on Means in the TI-83/84, Part 3

Confidence Intervals for the diff- in pop. means, [l — U, [07 & 03 known (or ny > 30 & ny > 30)]

1.

2.

Suppose you are given two lists of data. First, enter the values into two lists (e.g. L1, L2). Press
(STAT], scroll over to TESTS, scroll down to 9:2-SampZInt..., and press (see left image,
below). Select Data as your input method (Inpt) [Stats is used when summary statistics are
given], enter the values of sigma-1 and sigma-2 (61 & G2), give the lists that contain the data
(List1 & List2), be sure the frequencies (Freq1 & Freq2) are 1 since all of the data from each
sample is in one list (otherwise give the list that contains the frequencies for each sample), and the
confidence level (C-Level) should be entered as a decimal value (see right images, below). When

this is done, move the cursor to Calculate and press [ENTER] to view the confidence interval.

Example: The U.S. Department of Agriculture compiles information on acreage, production, and
value of potatoes and publishes its findings in Agricultural Statistics. The yield of potatoes is
measured in hundreds of pounds (cwt.) per acre. A random sample of forty l-acre plots of
potatoes is taken from Idaho, and a random sample of thirty-two 1—acre plots of potatoes is taken
from Nevada. The yields of the plots sampled are displayed in the following table.

Idaho Nevada
229 267 326 309 231 283 254 328 292
283 344 310 258 316 315 336 378 314
241 281 218 284 311 312 328 272 307
254 217 267 299 266 348 233 354 400
264 264 290 312 298 341 313 309 308
305 244 303 299 285 340 300 316 268
308 260 204 291 242 259 276 271 362
329 315 246 322 293 340 339 300 333

Find a 90% confidence interval for the difference between the mean yields per acre of potatoes for
Idaho and Nevada. (Assume that the population standard deviations are 34.6 cwt. and 37.2 cwt.,
respectively.)

First, enter the data into two lists (e.g. L1, L2). Press [STAT], scroll over to TESTS, scroll down to

9:2-SampZInt..., and press (see second image, below). Select Data as your input method,
enter the value of sigma-1 (34.6) and sigma-2 (37.2), give the lists that contains the data (L1, L2),
be sure the frequencies are 1, and the confidence level should be entered as a decimal value (0.90).

When this is done, move the cursor to Calculate and press [ENTER] to view the confidence interval.

“We can be 90% confident that the difference, u, —u,, between the average yields per acre of
potatoes for Idaho and Nevada is somewhere between -47.85 cwt. and -19.71 cwt.”
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Il. Confidence Intervals for the diff. in means, [, — W, [normal pops. when 0, = 0, but unknown]

1.

2.

Suppose you are given two lists of data. First, enter the values into two lists (e.g. L1, L2). Press

(STAT], scroll over to TESTS, scroll down to @:2-SampTInt..., and press (see left image,
below). Select Data as your input method (Inpt) [Stats is used when summary statistics are
given], give the lists that contain the data (List1 & List2), be sure the frequencies (Freql &
Freq2) are 1 since all of the data from each sample is in one list (otherwise give the list that
contains the frequencies for each sample), the confidence level (C-Level) should be entered as a
decimal value, and Pooled should be Yes since we think the unknown population standard
deviations are probably equal (see right images, below). When this is done, move the cursor to
Calculate and press to view the confidence interval. (Note that the degrees of freedom,
sample means, sample standard deviations, pooled standard deviation, and sample sizes are
displayed, respectively.)

Example: 1In a packing plant, a machine packs cartons with jars. A salesperson claims that the
machine she is selling will pack faster with the same accuracy (variability) as the present machine.
To test that claim, the times it takes each machine to pack ten cartons are recorded. The results, in
seconds, are shown in the following table.

New Machine Present Machine
42.0 41.0 42.7 43.6
41.3 41.8 43.8 433
42.4 42.8 42.5 43.5
43.2 42.3 43.1 41.7
41.8 42.7 44.0 44.1

Determine a 95% confidence interval for the difference, u, —u,, between the mean time it takes

the new machine to pack ten cartons and the mean time it takes the present machine to pack ten
cartons. (Preliminary analyses indicate that the data come from normally distributed populations.)

First, enter the data into two lists (e.g. L1, L2). Press [STAT], scroll over to TESTS, scroll down to

@:2-SampTInt..., and press (see second image, below). Select Data as your input method,
give the lists that contains the data (L1, L2), be sure the frequencies are 1, the confidence level
should be entered as a decimal value (0.95), and Pooled should be Yes since we think the unknown
population standard deviations (measures of variability) are probably equal. When this is done,

move the cursor to Calculate and press [ENTER] to view the confidence interval.

“We can be 90% confident that the difference, 4, — L, , between the average packing times of the
two machines is somewhere between -1.775 and -0.4253 seconds.”

32 © 2006 W. Scott Street, IV



IIL. Confidence Intervals for the diff- in means, [, — b, [normal pops. when o) # 0, but unknown]

1.

2.

Suppose you are given two lists of data. First, enter the values into two lists (e.g. L1, L2). Press

(STAT], scroll over to TESTS, scroll down to @:2-SampTInt..., and press (see left image,
below). Select Data as your input method (Inpt) [Stats is used when summary statistics are
given], give the lists that contain the data (List1 & List2), be sure the frequencies (Freql &
Freq2) are 1 since all of the data from each sample is in one list (otherwise give the list that
contains the frequencies for each sample), the confidence level (C-Level) should be entered as a
decimal value, and Pooled should be No since we think the unknown population standard
deviations are not equal (see right images, below). When this is done, move the cursor to

Calculate and press [ENTER] to view the confidence interval. (Note that the degrees of freedom,
sample means, sample standard deviations, and sample sizes are displayed, respectively.)

Example: The U.S. Bureau of Labor Statistics conducts monthly surveys to estimate hourly
earnings of nonsupervisory employees in various industry groups. Results of the surveys can be
found in Employment and Earnings. Independent random samples of 14 mine workers and 17
construction workers yield the following statistics.

Mining Construction
x, =$13.93 X, =$14.42
s, =$2.25 s, =$2.36

Determine a 90% confidence interval for the difference, u, — 1, , between the mean hourly earnings
of mine workers and the mean hourly earnings of construction workers.

Since we have summary statistics, we need not enter any data. Press [STAT], scroll over to TESTS,
scroll down to @:2-SampTInt..., and press (see left images, below). Select Stats as your
input method, enter for each sample the values of: mean, standard deviation, and sample size, the
confidence level should be entered as a decimal value (0.95), and Pooled should be No since we
think the unknown population standard deviations (measures of variability) are not equal. When

this is done, move the cursor to Calculate and press [ENTER] to view the confidence interval.

“We can be 90% confident that the difference, 1, ! ,, between the average hourly earnings of

mine workers and the average hourly earnings of construction workers is somewhere between —
$1.902 and -$0.92171.”
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IV. Hypothesis Tests for the equality of pop. means, [y = U, [01 & O, known (or ny > 30 & ny > 30)]

1.

Suppose you are given two lists of data. First, enter the values into two lists (e.g. L1, L2). Press
[STAT], scroll over to TESTS, scroll down to 3:2-SampZTest..., and press (see left image,
below). Select Data as your input method (Inpt) [Stats is used when summary statistics are
given], enter the values of sigma-1 and sigma-2 (61 & G2), give the lists that contain the data
(List1 & List2), be sure the frequencies (Freq1 & Freq2) are 1 since all of the data from each
sample is in one list (otherwise give the list that contains the frequencies for each sample), and
select the appropriate alternative hypothesis (i1:) (see right image, below). When this is done,

move the cursor to Calculate and press [ENTER] to view the results.

Example: The U.S. Department of Agriculture compiles information on acreage, production, and
value of potatoes and publishes its findings in Agricultural Statistics. The yield of potatoes is
measured in hundreds of pounds (cwt.) per acre. A random sample of forty l-acre plots of
potatoes is taken from Idaho, and a random sample of thirty-two 1—acre plots of potatoes is taken
from Nevada. The yields of the plots sampled are displayed in the following table.

Idaho Nevada
229 267 326 309 231 283 254 328 292
283 344 310 258 316 315 336 378 314
241 281 218 284 311 312 328 272 307
254 217 267 299 266 348 233 354 400
264 264 290 312 298 341 313 309 308
305 244 303 299 285 340 300 316 268
308 260 204 291 242 259 276 271 362
329 315 246 322 293 340 339 300 333

At the 5% significance level, is there significant evidence that the mean yields per acre of potatoes
for Idaho less than that for Nevada? (Assume that the population standard deviations are 34.6
cwt. and 37.2 cwt., respectively.)

First, enter the data into two lists (e.g. L1, L2). Press [STAT], scroll over to TESTS, scroll down to

3:2-SampZTest..., and press (see left images, below). Select Data as your input method,
enter the value of sigma-1 (34.6) and sigma-2 (37.2), give the lists that contains the data (L1, L2),
be sure the frequencies are 1, and select the appropriate alternative hypothesis (<p2). When this is

done, move the cursor to Calculate and press [ENTER] to view the results (see right images, below).

Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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V. Hypothesis Tests for the equality of means, [l = U, [normal pops. when 0, = 0, but unknown]

1.

Suppose you are given two lists of data. First, enter the values into two lists (e.g. L1, L2). Press

(STAT], scroll over to TESTS, scroll down to 4:2-SampTTest..., and press (see left image,
below). Select Data as your input method (Inpt) [Stats is used when summary statistics are
given], give the lists that contain the data (List1 & List2), be sure the frequencies (Freql &
Freq2) are 1 since all of the data from each sample is in one list (otherwise give the list that
contains the frequencies for each sample), select the appropriate alternative hypothesis (i1:), and
Pooled should be Yes since we think the unknown population standard deviations are probably
equal (see right images, below). When this is done, move the cursor to Calculate and press

ENTER] to view the results. (Note that the degrees of freedom, sample means, sample standard
deviations, pooled standard deviation, and sample sizes are displayed, respectively.)

Example: 1In a packing plant, a machine packs cartons with jars. A salesperson claims that the
machine she is selling will pack faster with the same accuracy (variability) as the present machine.
To test that claim, the times it takes each machine to pack ten cartons are recorded. The results, in
seconds, are shown in the following table.

New Machine Present Machine
42.0 41.0 42.7 43.6
41.3 41.8 43.8 433
42.4 42.8 42.5 43.5
43.2 42.3 43.1 41.7
41.8 42.7 44.0 44.1

At the 5% significance level, is the mean time it takes the new machine to pack ten cartons faster
than the mean time it takes the present machine to pack ten cartons? (Preliminary analyses
indicate that the data come from normally distributed populations.)

First, enter the data into two lists (e.g. L1, L2). Press [STAT], scroll over to TESTS, scroll down to

4:2-SampTTest..., and press [ENTER] (see left images, below). Select Data as your input method,
give the lists that contains the data (L1, L2), be sure the frequencies are 1, select the appropriate
alternative hypothesis (<p12), and Pooled should be Yes since we think the unknown population

standard deviations (measures of variability) are probably equal. When this is done, move the
cursor to Calculate and press ([ENTER] to view the results (see right images, below).

Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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VL. Hypothesis Tests for the equality of means, [l = [, [normal pops. when o) # 0, but unknown]

1.

Suppose you are given two lists of data. First, enter the values into two lists (e.g. L1, L2). Press
(STAT], scroll over to TESTS, scroll down to @:2-SampTInt..., and press (see left image,
below). Select Data as your input method (Inpt) [Stats is used when summary statistics are
given], give the lists that contain the data (List1 & List2), be sure the frequencies (Freql &
Freq2) are 1 since all of the data from each sample is in one list (otherwise give the list that
contains the frequencies for each sample), select the appropriate alternative hypothesis (i1:), and
Pooled should be No since we think the unknown population standard deviations are not equal
(see right images, below). When this is done, move the cursor to Calculate and press to
view the results. (Note that the degrees of freedom, sample means, sample standard deviations, and
sample sizes are displayed, respectively.)

Example: The U.S. Bureau of Labor Statistics conducts monthly surveys to estimate hourly
earnings of nonsupervisory employees in various industry groups. Results of the surveys can be
found in Employment and Earnings. Independent random samples of 14 mine workers and 17
construction workers yield the following statistics.

Mining Construction
x, =$13.93 X, =$14.42
s, =$2.25 s, = $2.36

At the 1% significance level, is there a difference between the mean hourly earnings of mine
workers and the mean hourly earnings of construction workers?

Since we have summary statistics, we need not enter any data. Press [STAT], scroll over to TESTS,

scroll down to 4:2-SampTTest..., and press [ENTER] (see left images, below). Select Stats as your
input method, enter for each sample the values of: mean, standard deviation, and sample size,
select the appropriate alternative hypothesis (#112), and Pooled should be No since we think the

unknown population standard deviations (measures of variability) are not equal. When this is
done, move the cursor to Calculate and press [ENTER] to view the results (see right images, below).

Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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L

Inference on Proportions in the TI-83/84

Confidence Intervals for the population proportion, © [when np >10 and n(1—p) >10]

1.

2.

Confidence intervals using the standard normal distribution can be computed using the information
in the text with a Standard Normal Table, using the information in the text with invNorm (see p. 9
of this document), or they can be computed directly with the TI-83.

Suppose you are given summary statistics for a set of data (number of units with the characteristic
of interest, x, and the sample size, n). First, press [STAT], scroll over to TESTS, scroll down to A:1-
PropZInt..., and press (see left image, below). Enter the number of units with the
characteristic of interest (x), give the sample size (n), and the confidence level (C-Level) should be
entered as a decimal value (see right image, below). You may not be given the number of successes,
but rather the sample proportion, p-hat, may be given. You can enter the following expression for
x: p#*n (be sure to round this answer to the nearest integer). When this is done, move the cursor

to Calculate and press [ENTER] to view the confidence interval.

Example: Studies are performed to estimate the percentage of the nation’s 10 million asthmatics
who are allergic to sulfites. In a recent survey, 38 of 500 randomly selected U.S. asthmatics were
found to be allergic to sulfites. Find a 95% confidence interval for the proportion of all U.S.
asthmatics who are allergic to sulfites.

First, press [STAT], scroll over to TESTS, scroll down to A:1-PropZInt..., and press (see left
image, below). Enter the number of units with the characteristic of interest (38), give the sample
size (500), and the confidence level should be entered as a decimal value (9.95). When this is
done, move the cursor to Calculate and press to view the confidence interval. (Note that
the computed value of the sample proportion p is displayed as is the user-entered value of the
sample size, respectively)

“We can be 95% confident that the actual percentage of U.S. asthmatics that are allergic to sulfites
is somewhere between 5.277% and 9.923%.”
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Il. Hypothesis Tests for the population proportion, © [when nm, 210 and n(l — ﬂo) >10/

1.

Hypothesis tests using the standard normal distribution can be computed using the information in
the text with a Standard Normal Table, using the information in the text with invNorm (see p. 9 of
this document), or they can be computed directly with the TI-83.

Suppose you are given summary statistics for a set of data (number of units with the characteristic
of interest, x, and the sample size, n). First, press [STAT], scroll over to TESTS, scroll down to 5:1-

PropZTest..., and press [ENTER] (see left image, below). Enter the value of hypothesized
proportion, 7, (pg), enter the number of units with the characteristic of interest (x), be sure the

sample size (n) is entered, and select the appropriate alternative hypothesis (prop) (see right

image, below). When this is done, move the cursor to Calculate and press ([ENTER] to view the
results.

EDIT CALC pis=qE 1-ProrZTest.

1:Z2-Test.. Fo:.1

2iT-Te 5t =118

Jiz-SanreTest.. n: 16A

4:Z2=SamrTTest.. FroFERD PO

gﬂl—PFDPETEStm Calculate Lraw
2-ProrcTest..

FlZInterval..

Example: In a 1993 study conducted by the American Management Association, 630 randomly
selected major U.S. firms were polled on their drug-testing policies. According to the report,
“...85% of the firms surveyed now test employees, applicants, or both.” At the 5% significance
level, do the data provide sufficient evidence to conclude that the percentage of major U.S. firms
that drug-tested in 1993 exceeds the 1992 figure of 74?

First, press [STAT], scroll over to TESTS, scroll down to 5:1-PropZTest..., and press (see
left image, below). Enter the value of hypothesized proportion (@.74), enter the number of units
with the characteristic of interest (536) [85% of 630 is about 536], be sure the sample size (630) is
entered, and select the appropriate alternative hypothesis, >, (>ps) (see right image, below).

When this is done, move the cursor to Calculate and press [ENTER] to view the results. (Note that
the alternative hypothesis, test statistic value, p-value, computed sample proportion, and user-
entered sample size are given, respectively.)

1-PropcTes=st 1-ProrcTes=t
FO:.rd PPDP} Td

#1536 =5, 339903811
ni G638 P=1 154591e-18
rrorFro <F0 EEN p=, BSE7IIESES
Calculate Draw n=&34

Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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1. Confidence Intervals for the difference of population proportions, m — m [when np, 25 and
n(1=p)=5 & n,p,>5 and n,(1- p,) 5]

1.

Suppose you are given summary statistics for two sets of data (number of units with the
characteristic of interest, x, and the sample size, n, for each data set). First, press [STAT], scroll
over to TESTS, scroll down to B:2-PropZInt..., and press (see left image, below). Enter
the number of units with the characteristic of interest for sample one (x1), give the size of sample
one (n1), enter the number of units with the characteristic of interest for sample two (x2), give the
size of sample two (n2), and the confidence level (C-Level) should be entered as a decimal value
(see right image, below). You may not be given the number of successes, but rather the sample
proportion, p-hat, may be given. You can enter the following expression for x1: p, *n, and for x2:
D, *n, (be sure to round this answer to the nearest integer). When this is done, move the cursor to

Calculate and press [ENTER] to view the confidence interval.

Example: Suppose you are told that the percentage of adult U.S. males who are married exceeds
the percentage of adult U.S. females who are married. Further suppose that to check this claim,
you randomly select 550 adult U.S. males and 575 adult U.S. females. You find that 367 of the
males and 353 of the females are married. Determine a 90% confidence interval for the difference
between the proportions of adult U.S. males and adult U.S. females who are married. Do your
data provide sufficient evidence to support the claim? Explain your answer.

First, press [STAT], scroll over to TESTS, scroll down to B:2-PropZInt..., and press (see left
image, below). Enter the number of units with the characteristic of interest from sample one (367),
give the size of sample one (550), enter the number of units with the characteristic of interest from
sample two (353), give the size of sample two (575), and the confidence level should be entered as
a decimal value (9.908). When this is done, move the cursor to Calculate and press to
view the confidence interval. (Note that the computed values of the sample proportions p, and p,
are displayed as are the user-entered values of the sample sizes, respectively.)

“We can be 90% confident that the difference, 7, — x,, between the proportion of adult American

males who are married and the proportion of adult American females who are married is
somewhere between 0.00638 and 0.10034.” Since the entire range of this interval is positive, we
are 90% confident that the percentage of adult U.S. males who are married exceeds the percentage
of adult U.S. females who are married.
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IV. Hypothesis Tests for the equality of population proportions, Hy: m = m [when np, 25 and
n(1=p)=5 & n,p,>5 and n,(1- p,) 5]

1.

Suppose you are given summary statistics for two sets of data (number of units with the
characteristic of interest, x, and the sample size, n, for each data set). First, press [STAT], scroll
over to TESTS, scroll down to 6:2-PropZTest..., and press (see left image, below). Enter
the number of units with the characteristic of interest for sample one (x1), give the size of sample
one (n1), enter the number of units with the characteristic of interest for sample two (x2), give the
size of sample two (n2), and select the appropriate alternative hypothesis (p1:) (see right image,
below). You may not be given the number of successes, but rather the sample proportion, p-hat,
may be given. You can enter the following expression for x1: p, *n, and for x2: p, *n, (be sure
to round this answer to the nearest integer). When this is done, move the cursor to Calculate and

press (ENTER] to view the results.

Example: Suppose you are told that the percentage of adult U.S. males who are married exceeds
the percentage of adult U.S. females who are married. Further suppose that to check this claim,
you randomly select 550 adult U.S. males and 575 adult U.S. females. You find that 367 of the
males and 353 of the females are married. At the 5% significance level, do your data provide
sufficient evidence to support the claim? Explain your answer.

First, press [STAT], scroll over to TESTS, scroll down to 6:2-PropZTest..., and press (see
left image, below). Enter the number of units with the characteristic of interest from sample one
(367), give the size of sample one (550), enter the number of units with the characteristic of
interest from sample two (353), give the size of sample two (575), and select the appropriate
alternative hypothesis (>p2). When this is done, move the cursor to Calculate and press
to view the results (right images, below). (Note that the alternative hypothesis, test statistic value,
p-value, computed values of the sample proportions p, and p,, pooled sample proportion
X, +x,

n+n,

A

P=D=

, and the user-entered values of the sample sizes are displayed, respectively.)

Now you must present your hypothesis test analysis, incorporating your TI-83 results.
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